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Mr. Schlansky Geometry

Overlapping Similar Triangles

1. Intriangle SEB, A ison SB ,and E ison EB so that ZE=/BAR.
If SB=6,RB=2,and SE =3, find RA .
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2. Intriangle TOR, Yis on TR, and D is on TO so that ZTYD = ZROT .
If 7Y = 2,YR =6,and TD = 4 ,find TO .
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3. In AABC shown below, ZACE is a right angle, E is a point on AC and ZD is drawn
perpendicular to hypotenuse AB.If AB = 9, BC'= 6, and D = 4, what is the length of AE9
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4. In triangle CHR, O is on ﬁ, and D is on CR so that #/H = kDo, ©
If ROy =4, B2 = 6, and OF = 4, what is the length of &7

5. In the diagram below of /A AF, X and Y are points on ABand 4C, respectively, such
that msA¥X = msB. If AX =2, 4Y =5,and YC = 4, find BX .

6. In ASCT shown below, points 7 and O are on 5U and CU, respectively. Segment OT
is drawn so that &= ~OTLF.

If Fif=4, OU = 5, and OC = 7, what is the length of 577
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